BIR{EEREBER

AE 10A18 (L) AR 10A2H(R)
i B B B ! B
7:45 7:45
A & 4 X 2§
(E@ B3] L)
(% B%E] (2 F %]
8:15 8:15
8:30 %X B B 8:30
(Bx B%] g
9:00 900 W% - BSKAEOERR VI8
St - = FEERKSERBOFRE R O
(K E - BABE] (2T BE]
10:00 4 10:00 3 i\
oy : KRKBR & B RER ﬁ%ﬁé@ﬁm
K AR BRRES RIBIEIE, HE I DM AED)
= [H% BE]
11:00 2 & & 3 11:00 .
% B E B
L Xt BB - KO- (BF) ERER
RSO & BT Wk 28]
B4 BE]
12:00 12:00
R B
(BEIR#11:50) B B
13:00 13:00
(ﬁiﬁ%@%ﬁ%)
. , 515 4EE
maL= WE. K, EREARERTEEIS
BN CENELD
14:00 LAk Z=] 14:00 [g;q‘ ;}EE?
[(2F 3%)
15:00 15:00 SHBEAEMEL
B oa E oy [REAREREHER]
SMGHERE (M- BULILE - AHFE - EEAES
ki (34, 2. &) (AR ES B ERRE]
16:00 MALE, bk 16:00
(54 B%) B 7 =
(EE 3%) (8 E - B T5E]
17:00 B
18:30
20:00 =
21:40 =
21:50
22:00

Atk%E 8t 4B 2% E 314




